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1| 3/19(%) )ty ARKBR | 13:00 | =/ Zw)tY | Zw/ WY = WiREKE IS

2| 3/26(x) | ARKIR CARBRIR | 13:00 A JGIRS1 |J-GREEN#RS1X4/>J4—JLR
3| 4/2(%) BIEL ARKBR | 13:00 B BIEEK | BRELSEBN RS
4 | 4/10(B) | ARKIR StHRZ | 13:00 KB JGIfIS1 |J-GREENIRS1XA>T4—JLR
5| 4/17(8) N=—-X ARKER | 13:00 BB BIIEAS WiEHhaEsNE BHEETE ISR Yvi—18
6 | 4/24(H) | ARKIR b1]%] 13:00 KBR AiE | RiEEERS

7 5/1(8) 721 ARKER | 13:00 IN= LIS — | LB ARE—IREE

8 | 5/70r5/8 | ARKIR fFEFC | 13:00 KB JGIRS1 |J-GREENIRS1X4/>J4—JLR
9 | 5/14(%) | ARKER Z5E | 13:00 A VoX— |[VIR-RISTLRE

10| 5/22(H) AT ARKBR | 13:00 i=d s |AesEFH EIT7RNAE]
11| 5/28(%) | SH#&KX ARKHR | 13:00 | #Z)I Zw)tY | 2w/ W= VIREKE IS

12| 6/5(H) ARKHR BIEL | 13:00 A Bl | RiERERS

13| 6/12(H) SitH% ARKPR | 14:00 BR BRI/ |BROZFRI—IRENE

14| 6/18(%) | ARKER NK=Z—X | 13:00 KB JGIRS1 |J-GREEN#RS1X4/>J4—JLR
15| 7/3(H) FILh ARKPR | 15:00 RiE XRE |XKE

16| 9/4(H) ARKHR 7>>1 | 16:00 KB Y24 |(VOR-T4—-IRER

17| 9/11(H) | fA&EFC ARKER | 14:00 EN O-hF |O-hJ1—ILRER

18| 9/17(%) 2R ARKBR | 13:00 Bl 2HES | ZahETEYYL-15

19| 9/24(%) | ARKIR AJWJX | 13:00 KB Al | HiEREHS

20| 10/1(x) | ARKIR SH#KX | 13:00 A htE | hiERRERS

21| 10/8(x) | CAKAMRIR ARKBR | 13:00 KB ARTY  |IRTIVERIST I

22| 10/16(H) | ARKIR —w/tY | 13:00 KB Al | RiERERS




